Guidance document 16

waufaan139u( Antilogarithms)
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Learning outcomes. Find the common logarithm, use properties of logarithms and

calculate the logarithm
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Intended destination. Find the values antilogarithms and applied to solve the

problem.
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2. MIMALBURABNISTL (steps to find the antilogarithm)

2.1 WU log N fifmuslviegluzu logN =X +n
%39 log N = Mantissa + characteristic
2.2 Wans1sa0nI3NNaNilgy Wemsuuase N, 7l log N, = A (Mantissa)
log N = A+ n
log N = log N, + log 10"
log N = log (N, X 10")
N =N X 10

Alternate Example 1 Find the N, given log N

1) logN = 25647
logN = 0.5647 +2
logN = l0g"3.67 + loglO2 (Locate the mantissa of logarithm tables )
logN = log(3.67 X 107
logN = log 367
N = 367

therefore 367 is antilogarithm of 2.5647




2) logN = 7.7443 - 10
log N = - 2.2557
log N = - 2.2557 +(1-1)
log N = (- 2-1) +(1-0.2557
log N = 0.7443 + (-3)

logN = log ... + log ...
logN = log (... X . )
log N = log ...
N = ...
therefore ................. is antilogarithm of ..o

3) log N = 3.8531

4 logN = 3.6415
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Personal Skills 1

Antiogarithms

Learning outcomes. Find the common logarithm, use properties of logarithms and

calculate the logarithm

Intended destination. Find the values antilogarithms and applied to solve the

problem. .

Find the antilogarithm of the
following logarithms.
(10 points)

1) 0.4082

solution log N = 0.4082

solution log N =

2) 3.4082
3.4082




3) -0.5918

solution log N =-0.5918

4) -0.0953

solution log N = -0.0953

5) 0.4082-1

solution log N = 0.4082-1

When finished. To change the
practice with a friend check the
accuracy.You have to do is
greater than or equal to 75

percent

Summary score

Score 10 points made

Instructor.

Mrs. Malaiporn uasuwan
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1) 2.6284 2) 1.8445

259 logN = 2.6284 25 logN = 1.8445




3) -2.4134

2591 logN = -2.4134

4) -0.1302

2591 logN = -0.1302

5) 7.3927-10

259 logN = 7.3927-10
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